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1.

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education

2) Special education

3) Inclusive education

4) Religious education

Which of the following statement is

correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a
psycho-social aspect.

positive

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

Which of the following characteristics
does not have a positive effect on the
process of socialization ?
1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude
4) Development of social
prejudices

P.T.O.
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5. AFNCEhl H  THIOY  fqmE &
el &y ® ¢
1) S=1 @dd ®9 9 R’ B Gehdl

Vygotsky's 'Zone of Proximal
Development' refers to :
1) What the child can do

2 independently
2) ¥ @Wad &9 9 H Tl X 2) What the child can't do
e 2 independently
e & 3) What the child can do with
3) &= ST % fasr & guidance of knowledgeable
T B HBAT 8 person
4) == el ST A & ReE H 4) What the child can't do even
ot o1 TEf BT dpal B under guidance of

6. R BT Rl N Sudly sl
& X U B, A IHH BRI A
gmmwwqﬁmmw

?
1) THARHSD 2) femEs
3) SWRIEE  4) ITHS

7. “HHEYE daq Qi AN d% @l
diftg &l 8, sfed o ot el oft
e @1 SfewpR F & o B

e o U & ge ot fhEe
AR IR Tl G B )

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative
3) Remedial

2) Diagnostic
4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) THo Hio Tho 2005 1) NCF 2005
2) THo Hio 2o Ro FHo 2) NCERT
3) I 3) UNESCO
4) g% 4) UNICEF

8. 3ha wd [ ¥ fhd WR & URaaH
B § 7
(a) R & FHR § qRaaA
(b) SRR & U # qReA
(c) YU Tl &l foeiia
(d) A faQmarett ®1 AR
F&l FT B AT BT :

7 .

1) (@, ®) T (c)

2) (a), (b) T (9

3) (@), (c) W (d)

4) (), (b), (c) @ (d)

[ Level-3/1321]

8.

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, () & (d)

4) (@, ®), (©) & (9
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9. Which of the following statements
does not explain the positive
impact of motivation on learning ?
1) Motivation

behaviour

impairs learning

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning
behaviour

4) Motivation makes
behaviour selective

learning

10. Match the stages of morality with

their level, under the Moral

Development theory of Kohlberg :

Stages of Morality Level of

Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ @®) (o) (@
H I o m I
2) I m I I
3 o m I I
4) II I III III

11. When the learner learns a task

automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

P.T.O.
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1) (@), () W (d)
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H G|
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Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual

Which of the following
examinations are the basis of
continuous and comprehensive
evaluation ?

(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.
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Which of the following pair is not
correct regarding elements of
intelligence and their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension
Intelligence

1) Unit Product

2) Cognition Operation
3) Evaluation Operation
4) Relations Content

Which one of the following is not a
key feature of child centred
learning approach ?

1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

P.T.O.
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SEEIE-UI L]

2) TEEEl — FEEdEel — [T
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BREIEL]

3) gEEEl — TEERT - [
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EREIE-RICIS)
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1) YHBITH
3) Gad

2) fodfed
4) LI
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Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous 2) Delay

3) Trace 4) Backward
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In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

P.T.O.
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Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services

Which of the following statement is

not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more
critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from

central axis to extremities.

The three dimensional model of
the inclusive education
propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey 2) Garret

3) Sorenson  4) Hurlock

[ Level-3/1321]
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4) M - WE

THT ® MU THA 9= P Gey H

ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R
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46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1321]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.
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53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1321]
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fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

I A o R % s WX IuX fQam
# R oAl Je F@ @l ©, ol
SH® T4 BT P R B

1) SWR-F 2) ufEm

3) W 4) IA-Ui=H

Teh A9 20 Al g bl i &l feem
4 u% g A qun SE gl W 4w &
foda Rar & 2 992 § 99 & B,
@ AT S H A9 B A ®

1) 10 fHt/"ver

2) 12 fH1/ave

3) 13 fHI/aven

4) 15 feHt/gver

T% Hem H 35 foEnfil #, A @ wWe
9 9 7d W@ B & WM IW q
o WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
HH-AT B ?

104

1) odf 2)
121

3) 1la 4)

[ Level-3/1321]

61.

62.

63.

64.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?
1) North-East 2) West

3) East 4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h

2) 12km/h

3) 13km/h

4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) O 2) 3

3) 4 4) 5

In a class of 35 students, A is
placed 7th from the bottom
whereas B is placed 9th from the
top and C is placed exactly
between these two. What is A's
position from C ?

1) oth 2)
3) llth 4)

10th
12th

P.T.O.
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65.

66.

61.

68.

69.

10.

Teh %= e A § 'CEG' &I ‘TSR’
der 'FHJ' &l 'QPO' foran sam &, &
TH T 9w ¥ OIKM' @ ferar
ST

1) NOP 2) NOL
3) NMK 4) NML

el EAML & e |ref o1 S
ST &hd & 7

1) 1 2) 2

3 3 4) 4

U R SgYS § SR BT Ud
9@ B H NI 7:2 B, q W
TS A TSl dH WA B

1) 17 2) 8

3) 9 4) 11

fr=ifeiie g @l & I 9
S i
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

T A ST UF o R Thdl 8 gUS H,
T B T 41 °% P I 6 g H
T o Hhal 21 IR QST A B T
|y 2 g9¢ & fU @i & usEr A
A & < P A AC, @ 79 B &N
ST ¥ e A ST ?

1) 292§ 2) 2% gUe H

3) 3 g H 4) 3% gue §

A fret ffvea Ye & 38 « 15 = 32,
62 % 91 = 7 QT 74 = 81 = 29 &, oI
SH YA H 47433 H AF B ¢

1) 40 2) 41

3) 38 4) 53

[ Level-3/1321]

65.

66.

61.

68.

69.

10.
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In a certain code language 'CEG' is
written as "TSR' and 'FHJ' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?
)1 2) 2

3) 8 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 17 2) 8
3) 9 4) 11

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 38 2) 34
3) 35 4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
3) 3hours

2) 2% hours
4) 3 hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 « 33 is:
1) 40
3) 38

2) 41
4) B3
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12.

13.

14,

15.

16.
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g 17 fE=R, 2002 @ qFER o,
o 22 RE=R, 2004 @ H=-d1 A
qr ?

1) Taar
3) TMER

2) 9IvErR
4) HIAR

ol P ST TS ©
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN
3) RS8P 4) R88M
IS Ui H, & AP o

Yo w6 9 ®9 el SN g,
fr=ifofeg aftmEl § $9-9 39 aw
& T B B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

x-3&, y-3& d 4x+3y =12 QN
Fftfa Brgst & awrrEa & B @
1) 2 &8 2) 2.5 B

3) 3 % 4) 4 =B

8 999 Bl 9@ Fa S, e
15463 ¥ Siig< WX 9T IFT%S 107 §
eicar o & S @

1) 52
3) 71

2) 55
4) 16

UMl ® g H fhE oTgu H TR
ST ST fob O 59 bl g e W
o T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5

[ Level-3/1321]

11.

12.
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14.

15.
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If it Saturday on 17th
December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday
3) Monday 4) Tuesday

was

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of
letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x +3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5
3) 3:5 4) 4:5

P.T.O.
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77. U iY=d AR & 4% die & W
2 99 % QT ThgfE N Ud ER
& & S o

1) 52:51
3) 51:50

2) 52:50
4) 53:50

| >
| o

8. a% A B @m c ¥ L.5.8 3
2°3'5

ogua & el T Th AR

fFam 4 WE ueaTq A R STO O

50% o1 faam 3 af & o F o

21,600 BUY FH TN AT &, A W

A H A B A RED
1) 2,400 9@ 2) 3,600 TI
3) 4,000 W 4) 4,200 TW
79. % HARHI 20% B W TF & &
o 8, AR SH AR W 12 T\
o H S, af 99 10% @ arH
BN 3 % H FT TA ©
1) 22 1) 2) 30 W
3) 36 W 4) 40 W
80. 3%+a” 1-a”~
l1-a +1+\/5 ¢
a a—-1
R 2 5
2 2
a0 Y

81. Qe Ma G oared ¢

[ Level-3/1321]

11.

18.

19.

80.
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The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51
3) 51:50

2) 52:50
4) 53:50

If A, B and C enter into a
partnership with shares in the ratio
Z:é:E . After 4 months, A
2 35

increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

3) Rs. 4,000

2) Rs. 3,600
4) Rs. 4,200

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30

3) Rs.36 4) Rs.40

Ve —Va

+l—a
1++a

_a 2) a-1

1 2
2
l1-a

1 _
a’+a

is equal to :
l-a

1)

a

IS

3) 4)

—

a_

Historical village Sugh is located
in :

1) Ambala district

2) Kurukshetra district

3) Yamunanagar district

4) Panchkula district
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82.

83.

84.

85.

86.
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fhe BRAE 9 T, 2023 H ARC
TS[d &l B fhar ?

1) G Qg

2) ey e

3) I Rawrs

4) Tifed

g & effed Tsedel # |
P T & T AR ?

1) <t TR

2) 4 JIwR g S

3) i &t o= W

4) & gLid e gearier

AR W4 $ @eg 9 g ©

1) <9 ¥
3) YT H

2) Parm ¥
4) ead H

Mar Sl gARE fhE W H A
S & 7

1) FHiiw |
3) offead ®

2) AWM H
4) @ ¥

[ Level-3/1321]

82.

83.

84.

85.

86.
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Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia

The evidence of Stupa of Mauryan

period is found at :

1) Topara 2) Bhiwani
3) Thanesar 4) Rohtak
Geeta  Jayanti Samaroh is

celebrated in the month of :
1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana

Who is the Chief Commissioner of
Right to
Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Haryana Service

P.T.O.
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81. @Y Fysem® & SR H [oAfeie
B Bl TGU
() 98 3@ & B 9
(i) I8 Th T Ay

88.

89.

90.

HHiTT @, S HaE & w9 A B

7&7 F< H =TI HIT

1) 39 HIF (i) TE 2

2) Fad FAF (ii) Tl &

3) T A HIT () A T & I (i)
R

4) A1 B (i) AR (i) T2

gﬁwnﬁi%m IS B% Fel d
?

1) fieR 2) I

3) =N 4) g

ERAMT o9 Hehll HY Td A
ferpre 1S o &l e &9 g8 ?

1) S¥a{l, 1967
2) TI=R, 1966
3) A, 1980

4) SE{l, 1996

gRamm § AR
Her Fel Red B 7

SNt

1) dHa
2) qEIud
3) STE
4) FHHE

81.

88.

89.

90.

GET IT ON
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Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither statement (i) nor
statement (ii) are correct.

4) Both the statements (i) and (ii)
are correct.

In Haryana, where the Chinkara
Breeding Centre is located ?

1) Pinjore 2) Panipat
3) Jhajjar 4) Bhiwani
When the Haryana State Co-

operative Agriculture and Rural
Development Board Ltd. was
established ?

1) January, 1967

2) November, 1966
3) March, 1980

4) January, 1996

Where in Haryana, the Indian
Institute of Information Technology
is located ?

1) Sonipat
2) Panipat
3) Ambala
4) Kurukshetra

[ Level-3/1321]
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e Frfeied gel % SR 39 & U qed SR e g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

96.

SN Freld Seldd 8 -
1) oo afafea M
2) oM e S

3) FRM A9 Ui

4) FARM ART<e T

Uoae AMYE & ST 9 &
98¢ ® g s § fFr S &
S EJ HICAT B

1) °H Hele

2) AR Fel™

3) TN HIIE

4) IUST HEINH

SUERArel § SME W B @
fere oty Iw # @ § -
1) T 2) FT
3) WiHE 4) 3T

I Rl &I § HH Y B Th G
I B B, A IH I Bl He

ST 8
2) TsHga

1) PHETS
3) e 4) TEY

M HHS H SN TH A S
AT U B EEC g &
HeMfd & & fog e S 2

1) Drop 2) Alter

3) Update 4) Modify

HIF-HT B 9 U7 PN I ol & [
e 1 SUERT @9 @, Red =
FOT N ZHH IYANT FEl SN Hd
fpan Sta ?

1) TAfeeE 2) feeed

3) TRHeIM  4) W

[ Level-3/1321]

91.

92.

93.

94.

95.

96.

Transmission control protocol is :

1) Collision sensitive protocol
2) Collision less property

3) Connection less protocol

4) Connection oriented protocol

The select operation is used to
choose a subset of tuples from a
relation that satisfies a .............. .

1) Check Condition

2) Selection Condition
3) Insertion Condition
4) Update Condition

To get information from users you
USE .ovvueeenne .
1) Tables
3) Forms

2) Queries
4) Data

If a class contains at least one pure
virtual function, it is called as .............
class.

1) Compiled 2) Abstract

3) Interpreted 4) Interface

This command is used to modify
attribute wvalues of one or more

selected tuples :
1) Drop 2) Alter
3) Update 4) Modify

Which phase answers the questions
of who will use the system, what the
system will do and where and when
it will be used ?

1) Analysis 2) Design

3) Implementation 4) Planning

P.T.O.
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97. RAIFRM <=y #H W &, widfne
B A vernrnannnnns % GE

1) Keys types

2) Entity types

3) Condition types
4) Attribute types

98. T W Z R J&F M & I I AR
BId A foresr TrRE e @ @ g
%l TR & & B9 B 8, © -

1) e U8 SfWar J9
2) YA wEd TEk

3) Iz ofwel AN

4) B TN

99. 952, &I Al TG HIA HIST :
1) 1670; 2) 1674
3) 1607, 4) 1660;

100. UZeN ¥ U R ¢
1) =gead 2) IS
3) HIEERTSA 4) FEiedd
101. &®EA &d & Th dC i SEgHe @l
T faivanetl 1 9 &Xar §, ® ¢
1) 39 U9 2) wEd e
3) <&d 4) e

102. offded @ 127.54 & SUTd
I HI IO
1) 78.6875,, 2) 48.6875,
3) 871.6875,, 4) 67.6875,

103. erennnnn.. e & o 2

4) TRAHIM GiFeaa
[ Level-3 /1321 ]
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100.
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Degree of relationship type is the
number of participating .............. .

1) Keys types

2) Entity types

3) Condition types

4) Attribute types

Fast and small memory between
CPU and main memory whose
access time is closer to the
processing speed of CPU is :

1) Erasable Read Only Memory
2) Random Access Memory

3) Read Only Memory

4) Cache Memory

Find the octal equivalent of 952 :

1) 1670g 2) 167g

3) 1607g 4) 1660g
Tuples in Python are :

1) mutable 2) immutable

3) modifiable 4) convertible

A set of style rules that describes a
document's display characteristics is :
1) WebPage 2) Style Sheet

3) Table 4) List

Find the decimal equivalent of octal
number 127.54; :
1) 78.6815
3) 87.6875),

2) 48.6875),
4) 67.6875),

............... is the program in execution.
1) Process

2) Thread

3) Operating system

4) Application software
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104

105.

106.

107.

108.

109.

. HTML tags & ........ % Sfex forar
S B
) O 2) [1
3) {} 4) <>
........... TP § FH SR R
1) Fg e
2) TENHA FHe
3) ufeE dfforha gfe
4) AU gfe

T il @ s=m 3 fom we d
F(eAr B gl W B R
T ITART fopar ST R

1) Checksum 2) Fault

3) Error 4) Padding
M9 § TEEE B ST oveneenns
fepan STrem em

1) Afefw #

2) faferedl gweeiiote #

3) HYDHI |

4) UHuA |

T Fa4 e IwEN AR 9d 9§
ST I R B & [T fohar S
&, HEA ©

1) SQL query

2) Join query

3) Selection query

4) Crosstab query

saeq H DI H TGN
fSIST URilheM & SAfsided &l oq
4 5q¢ w3 & e fean S 2

oooooooooo

1) SQLquery 2) Join object
3) OLE object 4) Hyperlink

[ Level-3/1321]
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HTML tags must be written within

2) [1

4) <>

All the calculations and decision
making operations are performed
in which unit ?

1) Control Unit

2) Algorithm Unit

3) Arithmetic Logical Unit

4) Memory Unit

............. is used to detect the errors in
the header to avoid misdelivery.

1) Checksum 2) Fault
3) Error 4) Padding

Initially internet was used for ......... .

1) Medicine

2) Military intelligence
3) Communication

4) Education

The query that is used to summarize
the data from various tables is called
as:

1) SQL query

2) Join query

3) Selection query

4) Crosstab query

In database ........... type of field is
used to insert various objects mode
in other Windows applications into
table.

1) SQLquery 2) Join object

3) OLE object 4) Hyperlink

P.T.O.
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110. MVC&H F % ©

1) AU agard ol
2) Hisw F Hre]
3) HfeHH & He
4) ST F HrgIe

111. a9 e Hegass
TR & &Y H Bl
1) V% 2)
3) fvigs e 4) T®

112. wfiesd EH TRNEIA, .ooeeeenes
AT AT & Tl ol
1) ffeqq 2) TS
3) it 4) QA

113, ceeeeen.... MUH  Toles® H 9wl
;nseﬁ I AT HIT Bl AT &l
|
1) FSIHBT AR
Z) GH3cler HIReX
3) wWIES AT
4) Sicq AR

114. TRF ¥ e & ToHed .......... ®

115. .oooeernnnn. TH gET offeige ' A
AR W AT & @ §=i W

y=HqH & &9 § JEd i ol
1) frd 2) o
3) aARED 4) BT

116. Ik S & Ul H aReq fear
ST 8, @ Rl 3G ® @eW & fag
fF B BT IUANT fRAT ST © °

1) HLOOKUP 2) VLOOKUP
3) RLOOKUP 4) CLOOKUP
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Full form of MVC is :
1) Memory Virtual Controller
2) Model View Container

3) Maximum View Container
4) Model View Controller

TOLL Plaza simulation is an
application of .............

1) Stack 2) Queue

3) LinkedList 4) Graph

Logistic regression can Dbe
bionomial, ........... or multinomial.

1) ordinal 2) numbered
3) unimial 4) binary

.............. allows you to alter all the
slides in the presentation.

1) Handout master
2) Outline master
3) Slide master

4) Notes master

In python elements of the list are
written inside :

1) [1
3) O

............ is a drawing object which is

2) {}

4) <>

usually printed as the background
of text on all the pages of document.
1) Clip 2) Art

3) Watermark 4) Header

If data is organized in rows, which
function is used to search a value ?

1) HLOOKUP 2) VLOOKUP
3) RLOOKUP 4) CLOOKUP
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2) FmET QS #s %R
TR FaTS

3) OThEHT WSS HS B FTHHIM
geTd

4) TG WUEE HIT BR FHHIM
geTd

...............

HATH fREl RN
AEl §@ § S @ dwid @
EESIECRETS I R

1) I 2) A9S <§d

3) BX @ 4) fyge Isw
HHIE B SR G
SIS I [ A & gikThe H
% fom feam S R

1) File-Save as

2) File-Print as

3) View-Save

..........

4) View-Save as

el TiRe o Ao eI e ®
1) 2) RR
3) WM 4) TEIHS

ofth S getie W A &R gge H
@@ $ MU FGE W F R
& gFar B R R ff w uwliee
% STERAl B QU HCA 8 -

1) 9 gaes 2fhd
2) TAMEH Sfthdh
3) G sARe® S
4) wERE
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Full form of ASCII is :

1) American Simulation Code for
Information Interchange

2) African Simulation Code for
Information Interchange

3) African Standard Code for
Information Interchange

4) American Standard Code for
Information Interchange

.............. allows you to synthesize
and analyze data from list or
existing table.

1) Table 2) Merged table
3) Header table 4) Pivot table

command is used to

duplicate the active document
under different names ?

1) File-Save as

2) TFile-Print as

3) View-Save

4) View-Save as

Pictorial representation of an
algorithm is called as :
2) Picture

4) Pseudocode

1) Image
3) Flowchart

The traffic which can adjust over
wide ranges, to changes in delay and
throughput across an intermet and
stil meets the needs of an
application, is called as :

1) Non Elastic traffic

2) Elastic traffic

3) Semi Elastic traffic

4) Hybrid traffic

P.T.O.
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122, ........ T H TH eq B
1) wMe
2) Fec e
3) Fec Giag MaEs
4) 99
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126.

1217.

oA g R g AT 2 7

HUCH H & GIE @ I
STEE H WE & I9H & g w
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1) s Hisd

2) ReleFiRm dfed

3) &{ Hisd

4) Y Hisd

T i Sl YOH Raie @ Th
fftre qee™ 3T B, wean ©

1) Unique key 2) First key

3) Primary key 4) Candidate key
TS &l TR e ® ¢
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.......... is one of the gateway of internet.
1) Intranet

2) Internet protocol

3) Internet service provider

4) Web

The study of how to make computers
do things which, at the moment,
people do better :

1) Machine Learning

2) Artificial Intelligence

3) Cloud Computing

4) Natural Language Processing

It is a variant of generate and test
in which feedback from test
procedure is used to help the
generator decide which direction
to move in search space ?

1) Hill climbing

2) Best first search

3) Constraint satisfaction

4) Problem reduction

A collection of concepts that can be
used to describe the structure of
database and provides the necessary
means to achieve this abstraction :

1) Data Model

2) Relationship Model

3) Query Model

4) Form Model

A field that gives each record a
unique identity is called as :

1) Unique key 2) First key

3) Primary key 4) Candidate key
Project size is related with :

1) Technical feasibility

2) Economical feasibility

3) Organizational feasibility

4) Testing feasibility
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HAM

1) TR 2) fesieq

3) T  4) WIT

g g ofEel & Ra grew #
OPCODE X ........... i B
1) Operators 2) Operand

3) Variable

FY H I HAT SN TH IO U PR
T § H ¥ T B B, Pearl © ¢
1) U TEA

2) T ISE <A

3) ¥ge

4) FYE T

ToMe W T T a1 B ..o
FEl Il 2l

1) FEH e

2) TNISS dAre

3) Refiegsd =

4) X 4

TH T SAYH URE B G S Gaed
H FERE wa B oS/A FER
e MARiT owar @ 9erm R, R

4) Function

1) feed diged®
2) UTRhIN HiFeaay
3) foeew Ty
4) TEq gEam

U ® Dictionary Key Value S8
ST AT ST B

1) : &N 2) #3EN

3) &N 4) $3W
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The ....ccceeeet phase of the system
decides how the system will operate
in terms of hardware, software and
network infrastructure.

1) Analysis 2) Design

3) Implementation 4) Planning
Instruction format of machine level
language consists of OPCODE
and ........... .

1) Operators 2) Operand

3) Variable 4) Function

Amount of work that a system is
able to do per unit time is called as :
1) Response Time

2) Turn around Time

3) Throughput

4) Input Time

Chart created on worksheet is
calledas..........ce.. .

1) Column chart

2) Embedded chart

3) Resolution chart
4) Bar chart

Set of one or more programs which

controls the operation and/or
extends the processing capability
of a computer system is :

1) System Software

2) Application Software

3) System Application

4) System Hardware

In Python dictionary key value pairs
are separated by :
) : 2) #
3) ! 4) $
P.T.O.
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134. 3XH fusd vy Rwie WHR &
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1) primary 2) secondary

135.

136.

131.

138.

139.

3) self 4) selfie

frfafed & & @9-@1 HTML $i©
FeC H dlce HY H JERIT BT & 7
1) <b> This text is big <b>

2) <b> This text is big </b>

3) <b> This text is big <\b>

4) <b/> This text is big <\b>
.............. fore @ %8 gaT wWEA
S - FANE Had, S §hd Al
e & foer o | 2

1) ofgd foe 2) o-elted fome
3) afdwd fae  4) Efeied free
TARd & & ¢

1) 9

2) a9 iR

3) a9 sTEd|

4) 39 R

TR T A1 AR e
el o1 Hrawer ThiAl I SaaT
.......... FEATT Bl

1) feEima Sar sFeu=
2) Ted ST IFeue

3) RN a0 Seted
4) ifopa 31 U=

SQL YEGal H .oevvnnnnnn. el
A © N T W § IRl Sl
Tl

1) Table 2) View

3) Base Table 4) Form
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In Python instance methods use
........... as first default parameter.
1) primary
3) self

2) secondary
4) selfie

Which of the following HTML codes
display the content in bold face ?

1) <b> This text is big <b>

2) <b> This text is big </b>

3) <b> This text is big <\b>

4) <b/> This text is big <\b>

............... lists can be preceded by one
of the several bullet style — a closed
circle, an open circle or a square.

1) Orderedlist 2) Unordered list
3) Verticallist 4) Horizontal list

Goliveisa ....coueeuene .

1) Website

2) Web Publishing Tool
3) Web Database

4) Web Browser

The capacity to change the conceptual
schema without having to change the
external additional
programsis called as ............... .

schemas or

1) Physical Data Independence
2) Lateral Data Independence
3) Posterior Data Independence

4) Logical Data Independence

In SQL terminology a ........ceeeeees is a
single table that is derived from other
tables.

1) Table 2) View

3) Base Table 4) Form
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1) Infrastructure - as - a - service
2) Platform - as - a - service

3) Software - as - a - service

4) System - as - a - service

7€ TH ORGSR B GERT H B
INUSH H B T B ATHIRACS
IRuTed § e o Gl B

Frefefed & | Si9-a1 & g4 oM
T ?

1) 0 . DTm
3) FTEIT THWIX  4) ABHE
el & .’ % YA T
TgeH % WU-aE-RY fqavr H Pl
ST ©

1) TENReA

2) @™

3) T TH W ME ME HS
4) RS

T Higge UEEH W WEA & .pyc
PIEd # i@kl S @

1) py_source

2) py_run

3) py_interpreter

4) py_compile

TH NIM S TSR oA HiS @
7 Hie 7 SIS BT o, FHearw
3

1) el
3) TN

2) FHEAT
4) T
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Which of the following is not a cloud
service model ?

1) Infrastructure - as - a - service
2) Platform - as - a - service

3) Software - as - a - service

4) System - as - a - service

It refers to mathematical procedure that
needs to ftransform a number of
possibly correlated variables into small
number of uncorrelated variables :

1) Natural language analysis

2) Principle component analysis
3) Hidden Markov Model

4) Support Vector Machine

Which of the following is not a search
engine ?

1) Yahoo 2) Google
3) Internet explorer 4) Lycos

Step by step description of how to
arrive at a solution to a given
problem is known as :

1) Algorithm

2) Plan

3) ASCII Code

4) UNICODE

This module converts the python
source file into .pyc file :

1) py_source

2) py_run

3) py_interpreter

4) py_compile

A program which is responsible to
translate assembly language code into
equivalent machine code, is called as :
1) Translator 2) Compiler

3) Interpreter 4) Assembler

P.T.O.
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Full form of DRAM is :

1) Dynamic Random  Access
Memory

2) Download Random Access
Memory

3) Dynamic Ransom  Access
Memory

4) Different Random  Access
Memory

To insert images we use .......... tag.

1) picture 2) pic

3) img 4) image

An integrated set of programs that
controls the resources of computer
system and provides its users an
interface that is easy to use :

1) Operating system

2) Compiler

3) High level language program
4) Interpreter

A small dark square in the right
hand corner of the cell is called as :

1) Handle 2) Filler
3) Filter 4) Fill Handle
The  software containing an

interpreter that converts the byte
code into machine code where the
python program runs is called as :

1) Python Viscuss Machine

2) Python Virtual Machine

3) Python Virtual Memory

4) Python Viscuss Memory

[ Level-3/1321]
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